I = >

3875 Cypress Drive Petaluma, CA 94954 800.228.2555 707.773.1100 Fax 707.773.1180 www.gcx.com [INSTRUMENT MOUNTING SYSTEMS

GCX Mounting Assembly Installation Guide
Datex-Ohmeda — Aestiva — GEMSIT Solar 8000M Flat Panel Kit
The purpose of these instructions is to:

Describe attachment of Datex-Ohmeda 7100 Ventilator, Datex-Ohmeda 7900 Ventilator — Subplate, VESA Bracket and
Solar 8000M Remote Keypad.

Datex-Ohmeda 7900 Ventilator
1. Attach the VESA Plate to the Aestiva 7900 Ventilator using the M4 x 16mm pan head machine screws (4) provided.

Aestiva 7900 Ventilator

VESA Plate

M4 x 16mm
PHMS (4)

Datex-Ohmeda 7100 Ventilator

1. Remove 7100 Ventilator from the Data Arm and place onto a padded surface.

7100 Ventilator

Use these holes to
attach Subplate

2. Attach Subplate to 7100 Ventilator housing using the M4 x 14mm flat head machine screws (4) provided.

7100 Ventilator

M4 x 14mm
FHMS (4)

Subplate

DU-DX-0024-93 Rev A 7/13/01 GCX Corp Page 1 of 3



3. Attach the 7100 Ventilator Subplate to the Data Arm using the M4 x 8mm pan head machine screws (4) provided.

Subplate 7100 Ventilator

M4 x 8mm PHMS (4)

Data Arm

4. Attach the VESA Plate to the 7100 Ventilator Subplate using the M4 x 12mm pan head machine screws (4) provided.

7100 Ventilator

VESA Plate

M4 x 12mm
PHMS (4)

Flat Panel

1. Locate desired location for attaching Flat Panel to VESA Bracket. Attach Flat Panel to VESA Bracket with M4 x 12mm
pan head machine screws (4).

DU-DX-0024-93 Rev A 7/13/01 GCX Corp Page 2 of 3



Solar 8000M Remote Keypad

1. Note: Solar 8000M Remote Keypad is optional. Attach 8000M Remote Keypad Base to VESA Bracket with #6-32 x
5/8” PHMS (4). Attach Remote Keypad to Base.

Use these
tapped holes

VESA Bracket #6-32 x 5/8” PHMS

Solar 8000M Remote Keypad Base Solar 8000M Remote Keypad

DU-DX-0024-93 Rev A 7/13/01 GCX Corp Page 3 of 3



